7. 8 Suptember Sessions 1924 IN THE COURT OF QUARTER SESSIONS OF CAMBRIA COUNTY, PENNSYLVANIA. IN RE ROAD IN ADAMS, SUMMERHILI AND CROYLE TOWNSHIPS, FROM BEAVER DALE THROUGH TO SOUTH FORK. JOHNSTOWN AND OTHER POINTS. Prims and specifications for above practicular in first reach themsels dispused of deals in order office ded mongal and now Dies 😘. Jones

I certify that by a unanimous vote the within petition was approved by the hand Jury on December 5-1924 3. R. Booth Foreman

and now Die 22, 1924 the cefting dans been filed in the within freeding and often due consideration The program the felichts to granted, the Louis

IN THE COURT OF QUARTER SESSIONS OF CAMBRIA COUNTY.
TO THE HONORABLE THE JUDGES OF SAID COURT:

The Commissioners of Cambria County respectfully represent:

That a Township Road starting at the Village of Beaverdale in Summer-hill Township on the line between Summerhill and Adams Townships; thence through Adams Township for a distance of 4850 feet to the line between Croyle and Adams Townships; thence through Croyle Township for a distance of 6618 feet, or a total length of 11,468 feet, to the improved Township road in the Village of Lovett, is in a bad state of repair and needs to be improved in order to complete a hard-surface road from Beaverdale through to South Fork, Johnstown and other points.

That the Townships of Adams and Croyle are financially unable to undertake this improvement.

That by resolution dated the 19th day of November, 1924, a copy of which is hereto attached and made a part hereof, your Petitioners took over, subject to the approval of the Court and Grand Jury, the above described road, for the purpose of improving the same and maintaining it as a County road.

That subject to the approval of the Court and Grand Jury your Petitioners propose to improve said road by constructing a one-course re-inforced concrete pavement nine inches thick on the sides and six inches thick in the center to a width of sixteen feet, according to plans and specifications which are hereto attached and made a part of this Petition.

That the estimated cost of said road, as determined by Lewis R. Owen, County Engineer, is \$118,882.70.

Your Petitioners, showing these matters, respectfully ask the court for authority to make said improvements and to fix Friday, December 5th, as the time for hearing of this matter before the Grand Jury.

mmissioners of Cambria County

Cambria County, SS:

On this 24 m day of November, 1924, before me, the subscriber, Clerk of Courts in and for the County of Cambria, personally came the above named dohn. D. Weiker, Homer C. George and W. J. Cavanaugh, who being duly sworn according to law depose and say that the matters set forth in the foregoing Petition are true and correct to the best of their knowledge, information and belief.

Sworn and subscribed this 24th day of November, 1924.

Clerk of Courts Q. S.

DECREE

Now, November 1924, the within Petition being read and considered, it is ordered and decreed that the hearing on said Petition shall be held before the Grand Jury on Friday, the 5th day of December, 1924, notice of which hearing shall be given by advertisement for ten days in two newspapers of general circulation in the County of Cambria, and that said notice shall briefly describe the location of the road proposed to be improved and the time, place and purpose of said hearing.

By Mar Loude

KINKEAD, CHIEF CLERK L. S. JONES,

Cambria County Commissioners

(

EBENSBURG, PA.,

November 19, 1924.

Commissioners in session, all members present.

Homer C. George offered the following resolution and moved its adoption:

WHEREAS, a Township road starting at the Village of Beaverdale in Summerhill Township on the line between Summerhill and Adams Townships; thence through Adams Township for a distance of 4850 feet to the line between Croyle and Adams Townships; thence through Croyle Township for a distance of 6618 feet, or a total length of 11,468 feet, to the improved Township Road in the Village of Lovett, is in a bad state of repair and needs to be improved in order to complete a hard-surface road from Beaverdale through to South Fork, Johnstown and other points.

AND, WHEREAS, The Townships of Adams and Croyle are financially unable to undertake this improvement.

NOW, THEREFORE, BE IT RESOLVED by the Commissioners of Cambria County that the above-described road shall be taken over and improved and kept and maintained as a County road, according to the Act of Assembly in such case made and provided, and that the County Engineer be instructed to prepare plans and specifications for said improvement.

Motion seconded by W. J. Cavanaugh and unanimously carried.

Certified this 19th day of November, 1924.

D. S. Shirter

Proposed County Road from the Village of Beaverdale, beginning at Summerhill and Adams Twp.. line thence through Adams Township for a distance of 4850 feet to Township line of Croyle and Adams Township at the Creek; thence through Croyle Township for a distance of 6618 feet to the improved Township Road in the village of Lovett, Pa.

The length is 11,468 feet, width 16 feet. One Course Reinforced Concrete Pavement, 9 inches thick on sides and 6 inches thick in center.

Excavation & Borrow	14,000 Cu.Yds. @ \$1.45	\$20,300.00
Sub-grade	20,700 Sq.Yds. " 0.15	3,105.00
Shoulders	22.936 Lin.Ft. " 0.20	4,587.20
One course reinf.conc. Course wearing surface for bridge	20,525 Sq.Yds. " 3.60	73,890.00 525.00
Class "B" Concrete	95 Cu. Yds. " 27.00	2,565.00
15" R.C.Pipe	610 Lin.Ft. " 3.45	2,104.50
18" R.C.Pipe	28 Lin.Ft. " 4.00	152.00
24" R.C.Pipe	168 Lin.Ft. " 6.00	1,008.00
36" R.C.Pipe	28 Lin.Ft. " 12.00	336.00
4" Tile Drain	2000 Lin.Ft. " 1.00	2,000.00
-	200 Lin.Ft. " 0.90	180.00
4" Tile Outlets	4200 Lin.Ft. " 0.90	3,780.00
Wire Rope Railing	400 Cu. Yds. # 4.00	1,600.00
Stone Fill	#00 0m17gm	2.750.00
1 Bridge 10 ft. Span	motal	\$ 118,882.70

The above is the estimated cost of the above described improvement.

County Engineer.